B B 18

cowOiER J4—ILFFEH
B 27l 8 BHREEZ fEH 2R A BRI
80mH /INEHBHF 1 9:00 P hEBF 10 o0
80mH INEHBELTF 2 905 * BREBETE —MBF1E
80m INPAEEF 5 915 . Rz 11
=B 9:00
80m INFAFELKF 4 925 e = — iR F 1
80m  INEIFEETF 5 935 p— INEHBERF 3B a0
80m  INEIELTF 4 945 " pnsELT 25
80m  /NFE1-2HBF 4 955 e o REEF 3 40
80m  /NE1-28KF 2 1005 = ey 3
100m BS-—iBBF 3 1015 T F 27
i i R . 10:00
100m SER-—iR&EF 1 10:20 AR = — R F 1
100m HhEH@EBEF 18 10:25 ey, ERR-—REBEF 3 _
100m HEHBELT 15 1105 R e —mxr , 0%
100m  /NESFEFEF 6 11:40 — INEREETF 9 030
100m /INFEEBRF 5 1155 N F S T o
100m  /INESFERF 6 12:05 p— INPAFERF 2
100m  INEEERTF 5 12:20 " NpaERTF 5
Sealyh INEIEBRF 19

11:15

L2 BN R Y- 37 2 9
E= Bk Tiﬁ% 2 145
=R — iR BT 1
R B
110mH T%;tﬁ%% 2 1315 £ 2 Bk hEBF 35 13:00
110mH E/K-—BEF 1 13:20 hELF 28
100mH HEHELF 3 1325 Yealyy INFRBEF 29
100mH  B-—B&T I 1335 KB EELT g1 130
200m HEHBEBF 5 13:45 Spalylh INPAFEBRTF 18
200m BHE—BEF 2 1400 K- s ir o %0
200m FEER—MHEELF 3 1410 o, ER-—HREBEF 5
ErEEE 15:20
800m INPAFEBRF 1 1420 =R — iR T 1
800m /NERAFELF 1 14:25
800m HEEKR—MEHEEFF 3 1430
800m HEEKR—MEHEEXRF 3 1440
4x100mR NEHXBBELES 1 1455
4x100mR Ef-—HBF 1 15:00
4x100mR HZEHXBERF 3
4X100mR HEHBLF 3 1515
4 x100mR /NEHBEREF 2 1530
4X100mR /NEHBLF 2 1540
1500m HEHBEF 2 1550
1500m HEHBLF 1 16:05
1500m ER-—BBRF 1 16:10
1500m /MNEBF 1 16:15
1500m /NEZF 1 16:20



